® /MIOL
&7 HAKQ

ey

04/2010 -

DACIA DUSTER 2/4 WD

Cat. No. G/OOS

e20 | e20%94/20%1480*00

D- 9,00kN

x 0,00981

IMIOLA HAK-POL
96-111 KOWIESY, CHOJNATA 23A, POLAND
tel. +48 46 831 73 31, fax +48 831 74 29
e-mail: office@imiola.pl, www.imiola.pl




<~Tmgy,

30° max. Jrf: 1
N o8
}\. )
g \:“ 2 R40 MaX-
R AN
< | W 2
Sl A + Lk
AEg
30° max. \

Nalezy zagwarantowac przestrzen
swobodng wedlug zalgcznika VI,

rysunek 25a/b Regulaminu EKG
ONZ 55.01 przy dopuszczalnym
cieZarze catkowitym pojazau.

The clearance specified in appendix
VIl diagram 25a/b of Regulation No.

55.01 UN EU must be guaranteed at
laden weight of the vehicle.

PRZEKROJ A-A

--——_____ﬁ_h_.?‘;a*

32 min.

=F

['u.l

&

350420

E L'espace libre doit etre garanti
conformement a l'annexe VIl
lustration de la reglements
55.01 CE pour un poids fotal en
charge autorise du vehicule.

E Der Freiraum nach Anhang VI,
Abbildung 25a/b der Vorschriften
55.01 EG ist zu gew 25a/b ahrleistenbei
zZulassigem Gesamigewichides
Fahrzeuges

Moment skrecajacy dla srub i nakretek (8.8)
Torgue settings for nuts and bolts (8.8)
M8 25Nm
Mio0 55Nm
Mi2 85Nm
Mi14 135Nm
Mie 195Nm
»
(CUokm (Q)1000Km



Sruba M10x90-8.8 ; Bolt
Podkt. okr. D30x 210,5x 3 ; Plain Washer

Nakretka M10; Nut
Podkt. sprez. 10,2, Spring Washer
Podkt. okr. 10,5 Plain Washer

Nakretka M12 ; Nut Nakretka M12 ; Nut
Podkt. sprez. 12,2 ; Spring Washer Podkt. sprez. 12,2 ; Spring Washer
Podkt. okr. 13, Plain Washer Podkt. okr. 13, Plain Washer

Nakretka M10 ; Nut
Podkt. sprez.10,2 ,; Spring Washer

Podkt okr. 10,5, Plain Washer Sruba M12x40-8.8 ; Bolt

Podkt. sprez.12,2 ; Spring Washer
Podkt. okr. 13 ; Plain Washer

Sruba M12x40-8.8 ; Bolt

y o
) g
> U K
Z N D
/
3
v\

Sruba M12x40-8.8 ; Bolt Sruba M12x70-8.8; Bolt

Sruba M12x40-8.8 ; Bolt
Podkt. sprez.12,2 ; Spring Washer
Podkt. okr. 13, Plain Washer

Sruba M10x90-8.8 ; Bolt
Podkt. okr. D30x 210,5x 3, Plain Washer

M12x70 2
A 1 M12x40 4
M10x90 4
< M12 4
B x1 ’@‘ M10 4
‘ @30x310,5x3 4
C x1
13 6
D 1 10,5 4
12,2 6
E x4 @ 10,2 4
F x4
@{N G X1
8 H X1




o ST <= 0L PO QM pIEASIT E0RT GOO/D
vt D Tt eeyy  Anobomer TRYSE Uleld "€ XS 0LO X0ED O PpOd

lﬁ yjog * §°:8-06X0LW EGNIS
£&7/7/7/8 )

Em@xq&m\m ¥y u.@o PIood
Jaysep bulas [ 7'z zalds ppo
iog - §'8-0.XLI eqnig O og 88 oz e

jjog - 8'8-0¢XZL eqnig

Z Pid\ v Pld
g /
.. S

log ' 8°8-0vXZLN eqnig

g Pld

Ind D 3

18YSEN UEId . £} 1O Ppod vV 4
J8ysep bulds ' z'z| z81ds ‘ppod
jog ' 8'8-0vXZiN eqmis
18ysep uleld £ G'0) 40 ppod
Jeysep buds ' 7o) z81ds ppod
NN 0L expeuyeN
J8ysep uleld ‘€| o pipod 18ysep uleld : €} o pipod
J8ysep bulds ' z'z| z81ds ‘ppod Joysep) bulds ' z'z) zaids ‘ppod
N ‘2L eyidnieN N 2L expdieN

18yse uleld £ G0} 1o ppod
J8ysep bulds ' 70} z81ds ‘ppod
IN 0L eyidneN

18YSEN Uleld - € XG 0L X0E0 140 Ppod - 4 &P I Pd
Jog - §°8-06X0LW E9NIG



W technologiczne otwory w podtuznicach wiozy¢ tuleje dystansowe.
Elementy zaczepu C przykreci¢ do podtuznic srubami M10x90 8.8 (pkt 1).
Do elementéw C przykrecic¢ belke zaczepu A srubami M12x45 8.8 (pkt 2).
Dokreci¢ wszystkie sruby z momentem wg tabeli

Przykrecic¢ kule i blache gniazda elektrycznego.

Podtaczyc instalacje elektryczng

N

™~

/

Unscrew the spare wheel.

Insert distance sleeves in the technological holes of the metal clamps.
Screw slightly elements C to the metal clamps with

bolts M10x90 8.8 (point 1).

Screw the elements C to the main bar A with bolts M12x45 8.8 (point 2).
Tighten all the bolts according to the torque setting- see the table.

Fix the ball and electric plate with bolts M12x70 8.8 (point 3).

Connect the electric wires.

Assemble the spare wheel.

J
N

J

\

Desserrer la roue de secours,

Placer les douilles d'écartement dans les ouvertures de longerons,
Serrez legerement les élements de Rochet C aux longerons par les
boulons M10x90 8.8 (point 1).

Serrew les élements du crochet C au socle du Rochet A par les
boulonsi M12x45 8.8 (point 2).

Serrer tous les boulons avec un couple de serrage selon tableau,
Visser le crochet d'attelage et socle de prise électrique par les
boulons M12x70 8.8 (point 3).

Raccorder le circuit électrique.

Desserrer la roue de secours.

N



















	Sheet1
	Widok rysunku1
	Widok rysunku2
	Widok rysunku3
	Widok rysunku4
	Widok rysunku5
	Widok rysunku8
	Widok rysunku9
	Widok rysunku14
	Widok rysunku15
	Widok rysunku17
	Widok rysunku18
	Widok rysunku19
	Widok rysunku20
	Widok rysunku21

	Sheet1
	Widok rysunku1


